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TERM 3 MIDTERM EXAM 2011
MATHEMATICS FORM 2

NAME........................................................................ADM NO.......................CLAS..................

1) Given that a=2, b=1 and c=3, find the value of 					(3 mks)

3a2 – 2b2c + 4b
2ac + 2b3 – 3c













2) Solve the simultaneous equations							(3 mks)

3x – 2y = 7
5x + y = 3











3) Evaluate 		    0.0625 x 2.56        using tables				(3 mks)
0.25 x 0.08 x 0.5






4) Given that log 2 = 0.3010 and log 3 = 0.4771 evaluate

a) Log 18										     (2 mks)





b) Log 45										      (3 mks)













5) In the figure below, AB = 5cm, CB = 12cm and        ABC = 900. Calculate









a) Sin x										(3 mks)










b) Cos x										(2 mks)


6) Draw without using setsquare line PQ = 3.9cm, mark point M such that PQ = QM = 3:1												          (3 mks) 
















7) Obtain the equation of a line through point (5, -1) and perpendicular to line 4x + 2y – 3 = 0.												           (4 mks)













8) A father is 20 years older than his son 12 years ago he was six times as old as his son. Find their present ages.									        (3 mks)











9) A shopkeeper makes a profit a profit of sh. 200 by selling 20 blankets and 50 towels. He makes a loss of shs. 7 if he sells 35 blankets and 28 towels of the same kind.

a) Determine the profit (or loss) on each of the two items sold.			     (3 mks)














b) If he sold 12 blankets, how many towels should he sell to realize an overall profit of sh. 3007?										        (2 mks)











10) Without using a calculator, evaluate the following				        (3 mks)

 9½ - 3⅓ ÷ 5/9
3/5 of 6¼ + 1½











11) Solve for x in the equation below.						           (3 mks)

492x + 74x = 98











12) Find the reciprocal of 45.8.							          (2 mks)









13) The chord AB subtends an angle of 870 at the centre O. If the radius of the circle is 10cm, calculate:












a) The area of the circle.									(2mks)







b) The area of the major sector APB.							(2mks)







c) The area of triangle OAB.								(2mks)







d) The area of major segment.								(1 mk)







e) The area of minor segment.								(1mk)





[bookmark: _GoBack]
